HEHBNREK

EANA

(R iR NI L RE T Sk o Rl

Ji g%

HEX [N

( B FRk314E 4H 1H

= Sfn 24 3H31H )

(B2 : 1)

158

e E

SAEVINE Y SR A
(A1)

TR E R B
v E—

aHICIREES

EOF B N —F

IR R IR IS

ENEALF RIS

U R e

R H KIS

57 SR B RIS

PR ALY — R LR

1,484,076

1,484,076

ERENI =i e

[ R

17,

330,

700

17,330, 700

Z DA D F IR

12,

294,

624

35, 797, 000

48,091, 624

R 0 A B B AR

Z DL DY

Y — B AEEI R A (1)

29,

625,

324

37,281,076

66, 906, 400

I

N

21,

846,

521

217, 846, 521

R

, 012,

181

2, 355, 482

4,367, 663

B

, 196,

796

33, 228, 301

40, 025, 097

k7 S S A

RPEF R

HH A AR R

Tl A 15 1 2

, 081

6, 081

[ A B 4 S5 A R 7 4 R B

(ECNENE =

EOENEEIERR YN

Z DD EH]

H— e RIEEE G (2)

36,

661,

579

35, 583, 783

12,245, 362

Y- B ATEEIEBEGER (3)=(1)-(2)

AT,

036,

255

1,697,293

Ab, 338, 962

EOFm =8l N —F

B

& AL EL A B @ X 4

SN VE R RNEN

160

83

243

A Al E 5 R Al i

A A RIE 25 78 ) ik

A fiRE S A Al 48

FE A filGE S e H 4

Z OOV — & ATHEILLE

348,

599

348, 599

B — B AEESMAR R (4)

348,

759

83

348, 842

3

SCEVRILE

A A RLE SR Al

A flfiRIE %5 58 AHE

P A iR S5 AT Al R

B A fiti RiE 7% 72 AHE

Z OOV — & A {HEES ]

Y — B RTEES I (5)

Y — BRI BOERE (6)=(4) - (5)

348,

759

83

348, 842

8 GERE (T) = (3) + (6)

AB,

687,

496

1,697,376

A4,990,120




( B FRk314E 4H 1H

HEHBNREK

= Sfn 24 3H31H )

(B2 : 1)

2H

e E

FERHAT

EOF B N —F

IR R IR IS

ENEALF RIS

U R e

R H KIS

57 SR B RIS

PR ALY — R LR

1,484,

076

ERENI =i e

[ R

17, 330,

700

Z DA D F IR

48,091,

624

R 0 A B B AR

Z DL DY

Y — B AEEI R A (1)

66, 906,

400

I

N

27, 846,

521

R

4,361,

663

TR

40, 025,

097

k7 S S A

RPEF R

HH A AR R

Tl A 15 1 2

, 081

[ A B 4 5 AR 1 o 57 U B

(ECNENE =

EOENEEIERR YN

Z DD EH]

Y— B ATEBEE Q)

12, 245,

362

Y- B ATEEIEBEGER (3)=(1)-(2)

Ab, 338,

962

EOFm =8l N —F

B

& AL EL A B @ X 4

SN VE R RNEN

243

A Al E 5 R Al i

A A RIE 25 78 ) ik

A fiRE S A Al 48

P& A i alE 25 76 Al i

Z OOV — & ATHEILLE

348,

599

B — B AEESMAR R (4)

348,

842

3

SCEVRILE

A A RLE SR Al

A flfiRIE %5 58 AHE

P A iR S5 AT Al R

B A fiti RiE 7% 72 AHE

Z OOV — & A {HEES ]

Y — B RTEES I (5)

Y — BRI BOERE (6)=(4) - (5)

348,

842

8 GERE (T) = (3) + (6)

A4,990

120




